iy

f\’x

14 M the population hes anioitial see of D000, whal does the model |:umd:|rt for
the loog-term hehavionr of the popualation?

Owtions
A The popalation decreisses unfal it disappears.

B The popolation declines to o finite (non-zera) equilibrinm level,
C The popalation inereases booa fote sgailiboiom Jevel.

I3 The population size inereases withont lionid.

i

Chuestions 15 and 16 | -

The population %, 5 micasueed at thes end of vear o For aorace breed of aoomial which

is protected from cxploitation. A plot of (P4 — £, 1/ F, against M, is found to
Lwie well fEed by the steaight line

.F-n+| - -II

=121 000509 Py

15 Using the notation of Undit 5, select the option which is closest (o the parame-
eter M al the logstic madel for this popualation,

16 Tlsing the nolation of e 5, select the option which i closest to the param-
eter @ (measured in units of year—' ] of the logistic model for this population.

Cheteong for (hoestoons 15 and [0
A 00421 B 00509 0 0.Tal 0 1.2
E I8 F 167 O 192 H 233

Questions 17 and 18

The growth of a population # with time ¢ (reasured in years), when not exploited,

i deseribed by thee differential eguation - 12
i | W P e, = F = o4
& T A ) B

It is now propossd to exploit the population by taking a fixed proportion of {he
populstion each vear,

1T Belect the opiion which is the proportion of the population which should be
bakeen per year in ovder to give, in the long run. the maximne sustainalibe

sield:

Chptions

A 1l B 2% C % . D 50%

E 2% | F 7% G sTi% “H 100%

15 Belect the option which iz the annesl meacitoum sustainable vicld from che
propulataon

Chplinis .

(A) 125 B 250 e ® oo o

ﬁ 1060301 E O 150E R 1 H 4000
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